
Model Set -11 

Time-

Biology (Botany) 

Candidates are required to give their answer in 

their own words as far as possible. 

"CRTaTT� <l� 3fCFl° � lf 61" � � I 

Figures in the margine indicate full marks. 

� � � � Pl�� cpffl � I 

All questions are compulsory 

� ™ �Plc114 -g I 

General instructions: 

Pass 

· Q. Nos. 1 to 10 are Multiple Choice /Objective Type each of 1 mark.

Q. Nos. 11 to 13 are very Short Answer{VSA) Type each of 2 marks.

Q Nos. 14 to 16 are Short answer Type each of 3 marks. 

Q Nos. 17 to 18 are Long Answer Type each of 5 marks. 

ttl'll.;;ii �"ff :-

m � 1 � 10 C1CP 61§fctcbc41� m/c1{-gf.it:o Y� � 1 � "cbT t

� � 11 � 13 C1CP m � '3-a-<1� � � 2 � "cbT � 

m � 14 � 16 C1CP � '3-ti'<I� � � 3 � C{)f t I 

m � 17 � 18 C1CP cfttt '3-a�� � � 5 3fC{) "cbT � I 
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Group /A/� 3T 

Multiple choice /Objective type Questions 

�(4 cf> fc;q ll I <H�� to y� 

1. Through which cell of the embroysac does the pollen tube enter the
embryosac:­

( a) Egg cell

( c) Persistent synergid

(a) 3ts cf>l�lcbl

(c) � m cf>l�lcbl

2. Exception of mendel's law is

(a) Dominance

( c) independent assortment

(b) Central cell

( d) Degenerated synergid

(b) � cf>l�lcbl

(d) 3iq�1R-rn m cf>l�lcbl

(b) linkage

( d) Purity of gametes

(a)�

(c) ��

(b) fH5&P�ci I

(d)�ctr�

3. Anticodons are present in

(a) m-RNA

(c)t-RNA

!,d?l cb"c � \JTIB �

(a) m-RNA

(c)t-RNA

(b) r-RNA

( d) All of those

(b) r-RNA

( d) All of those
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4 Discontinuous synthesis of DNA occurs in one strand because 

(a) DNA molecule being synthesized is very long
(b) DNA dependent, DNA polymerase catalyses polymerization only in one

direction 5 1 
_. 3 1 

( c) It is more efficient process
( d) Such synthesis are more stable

DNA q5 � � � � fi��ti01 "ITTcTT "6 � 

(a) x-i���a ITT crrc;fT DNA � � "ITTcTT "6

(b) DNA 3TTcTifur DNA q1fciJ.i�\ii �tr� 5 1
_. 

3 1 ��cm­
"6 

(c) <m���"6

(d) � xi·��t101 � �� "ITTcTT "6

5 Breeding for improved nutritional quality is undertaken with objectiv of 

. . 
1mprovmg 

(i) Protein content and quality
(ii) Oil content and quality
(iii) Vitamin content
(iv) All the above

\FTTl "41% :1;01c1-a1 q5 � � cm- xj� q5 � � � fco<TT vfTill 6 

(a) mtFr � -a-� :1;01c1-a1
(b) c@ � -a-� :1;01c1-a1
(c) Rlc:1f?l-1 �

(d) '34gcRt �

6 Who is known as the father of green revolution in India 

(a) Norman E. Borlaug

(c) B.P.Pal

(b) M.S. Swaminathan

( d) Guha and Maheshwari
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'Bffif���ct�ctRt 

(a) � �o �1,«:1lJI

( C) �O 1lTcr �

7. Agarose is extracted from

(b) �o �o Nl�'il�

( d) lJITT � S-fli3�q�

(a) Maize (b) Sea weeds

(c) cycas (d) None of these

� ��\if@Tt 

(a) lfqq5T � (b) � �xqciqlx �

(c) fil�Ff5'{i � (d) � � � �

8. Gene gun is used to

(a) Bind the cut DNA

( c) introduce alien DNA

� � 9?T '34lllJI 6Rff % 

(a� � DNA 9?1 � � 

(b) cut the plasmid

( d) purify DNA into host cell

(c) Rl\iil,fill DNA cf5T � cf>l�lcbl � ffl cITTA ct�

(d) DNA eo1 �1c&cbxo1 �

9. Pollutant which causes acid rain is

(a) SO 2

(c) CO

(b) CO2

( d) Hydrocarbon
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(a) SO 2

(c) CO

(b) CO2

( d) Hydrocarbon

1 o. Flow of energy in an ecosystem is

(a) Bidirectional

( c) unidirectional

� q1Rd?l ��'PT1lcTT5"ITTill'5 

(b) Multidirectional

( d) without direction

Group- B/�-� 

(very short answer type questions) 

11. What is co- dominance ? Give example

"fffi"-w:rrfclen qx:rr '5 ? '3 cm:_; x a 1 �

12. Fill in the blanks

(i) The natural home of the organism is called -----------

(ii) Rhizobium found in root nodules of legumes can fix atomospheri -------

(i) 

(ii) 

� 'PT �l<:JiR'l¢ m------ ¢6&11cil 5 

� c1 g;:i7' ct � � 't/7$ v·/Jfi/2p-1 1TT<TT � 5 \JTT' q I a I q '< 0 I ct -----t­

cRcTT '5 

13. (i) Write any two hybrid varieties of wheat.

(ii) Name an organism that produce cry-protien.
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Group-C /� - � 

(Short answer type questions) 

14. Match the column -I with column-II and select the correct option
code given below

Column-I 

(A) Azotobactor

(B) Ozone layer

( C) Detrivores

1. (A)-(iii),(B)-(i),(C)-(ii)

2. (A)-(ii), (B)- (iii), (C)- (i)
3. (A)- (i), (B)-(iii), (C)-(ii)

Column -II 

(i) bacteria, fungi
(ii) Nitrogen fixation

(iii) UV radiation absorber

�-Icpf ��-II� x_i�R1a � 3tR � ������cpl" 

-W1l -I 

(A) �01k1�crcx
(B) ��
(C) �q=x�1g1�

(1) (A)-(iii),(B)-(i),(C)-(ii)
(2) (A)-(ii), (B)- (iii), (C)- (i)
(3) (A)- (i), (B)-(iii), (C)-(ii)

(i) �. cpqcp
( ii) •·mg�lGFi ft�{lq5=xu1
(iii) UV � cpl" 3icJ�11fGa m cf@T

�, 
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15. What are essential features of vectors ?

™ � 3ilcl�ll¢ � cfll"T t ? 

0 

16. What is plant breeding ? write any two objectives of plant breeding.

� � cfll"T t ? � � � � �� cpl" �

03 

GROUP-D /� - °G 

(Long answer type questions) 

(<ft-Et \"J-a{)� Y�) 

17. How did Messelson and Stahl prove that replication of DNA is semi

conservative? 05

�xkHFI 3tR � � � P!tx:Bfqa � fcp DNA en',- �RlcfiRI 3lm:Rafr t?

OR/ 3l� 

Describe multiple allelism and pleotropism with examples. 

�� � �"1lll�IYl en',- '3�1sx01 � � � I 

18. Describe post-fertilization events in a flowering plants ?

� � "B Pl�iH-� �311 cnT cruR �

OR / 3l� 

05 

In angiosperm,the pollen germinates to produce pollen tube that carr es two 

gametes. What is the purpose of carrying two garnets when single ga 

fertilise egg ? 

� � "B "W1T � � � YxlJl�ci"1 � � � 'PX \Jf@T t lzj � cfllT 

3ilcl�llc:f>a1 t ��tr� 31'5 ¢'1�1c:f>1 "cf>1" Pl�Rla 'PX "fl"cf>cTT t?
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